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Quiz Date: 5" April 2020

Directions (1-10): In each of the questions given below four words are given in bold. These four
words may or may not be in their correct position. The sentence is then followed by options with
the correct combination of words that should replace each other in order to make the sentence
grammatically and contextually correct. Find the correct combination of the words that replace
each other. If the sentence is correct as it is then select option (e) as your choice.

Q1. The jubilation (A) in parts of the country contrast (B) the supposed(C) abrogation of Article
370 was in following (D) to the gloom in the Kashmir Valley.

Q2. The England cricket team promised (A) on Thursday the customized WWE Championship belt
which was received (B) to them following (C) their maiden World Cup victory (D) at the Lord’s on
July 14,

Q3. A two-member reserved (A) headed by Justice R. Banumathi and comprising (B) Justice A.S.
Bopanna also bench (C)the pronouncement of the order to until (D)5 September.

(a) A-B

(b) A-C
(c) A-D
(d)B-D
(e) None of these

Q4. The material cannot be used by the court to ascertain (A) whether an accused (B) person
should be corroborative (C) as it is a arrested (D) evidence only.
(a) A-B

Q5. Recent data points mode (A) that our lives (B) are set to change faster(C). This puts
entrepreneurship in fast- forward indicate (D).

(a) B-D

(b) B-C
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(c)A-D
(d)C-D
(e) None of these.

Q6. The tragedy ceremony (A)when people were returning (B)after watching the “Ravan Vadh"

occurred (C)at the Bihar capital’s main Dussehra event at Gandhi Maidan where a huge crowd

had gathered (D)to witness the event

(a) A-B

b)

c)

d)
)

e) None of these.

(b) B-C
(c) A-D
(d)A-C
(

Q7. The Jalan latter (A) also makes the distinction (B)between the sovereign (C)and the RBI's
balance sheet very clear, giving a separate place of importance for the committee(D).

(a) A-B

(b) B-C
(c) A-D
(d)C-D
(e) None of these.

Q8. Despite the financing (A) caused by climate change, there is not enough havoc (B) to support
for renewable energy (C) and mitigating environmental (D) changes.

Q9. It would be nice to believe (A) that Britain has been carefully (B) walked back from the Brexit
cliff-edge and now has a rational (C) over the next six months to reach a chance (D) decision on
its future relationship with the European Union.

Q10. The ‘empty chair’ during the recent changes (A) G-7 meeting was not just a low point for
the coveted (B)gathering in France, but also disheartening (C) for those conscious of the
catastrophic concluded (D)in the climate.

(a) A-B

(b) B-C
(c) A-D
(d)C-D



Bankersadda.com English Language Quiz for SBI Clerk Mains 2020 Adda247.com

(e) None of these
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Directions (11-15): Which of the phrases (a), (b), (c) and (d) given below each

statement should replace the phrase printed in bold in the sentence to make it

grammatically correct? If the sentence is correct as it is given and ‘No correction is required’, mark
(e) as the answer.

Q11. The Centre appears to having marginal mellowed its position on rolling out a National
Register of Citizens (NRC)

(a) Have marginally mellowed its

(b) Has marginalizes mellowing its

(c) Has marginalized mellows it’s

(d) Have marginalizing mellowed it’s

(e) No correction required

Q12. The Uttar Pradesh police have not explained satisfactorily how several peoples die of bullet
injuries, while claiming that their personnel did not fire a single bullet.

(a) Several people died of

(b) Several peoples dying of

(c) Several people died off

(d) Several people dies off

(e) No correction required

Q13. The Prime Minister must demonstrate he is a man of his word, and that his write run in the
party and the government.

(a) That his writs run in the party

(b) That his writ runs in the party

(c) That his writing running in the party

(d) That his writs running in the party

(e) No correction required

Q14. India has a host of serious national challenge to tackles, the economic being the most
critical.

(a) Challenging tackle, the economy been

(b) Challenged to tackle, the economy being
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(c) Challenges to tackle, the economy being
(d) Challenges to tackling, the economy been
(e) No correction required

Q15. This view of religious impartiality, of comprehension and forbearance, has a prophetic role
to play within the national and international life.

(a) Rolling to played within

(b) Roles to plays within

(c) Role to plays within

(d) Roles too play within

(e) No correction required
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Solutions

S1. Ans. (c)
Sol. The correct answer choice is option (c).

S2. Ans. (a)
Sol. The correct answer choice is option (a).

S3. Ans. (b)
Sol. The correct answer choice is option (b).

S4. Ans. (d)
Sol. The correct answer choice is option (d).

S5. Ans. (c)
Sol. The correct answer choice is option (c).

S6. Ans. (d)
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Sol. The correct answer choice is option (d).

S7. Ans. (c)
Sol. The correct answer choice is option (c).

S8. Ans. (a)
Sol. The correct option is option (a).

S9. Ans. (d)
Sol. The correct option is option (d).

S10. Ans. (c)
Sol. The correct answer choice is option(c).

S11. Ans. (a)

Adda247.com

Sol. ‘Have marginally mellowed its’ should replace the phrase printed in bold in the sentence to

make it grammatically correct. Hence, option (a) is the right answer choice.

S12. Ans. (a)

Sol. ‘Several people died of’ should replace the phrase printed in bold in the sentence to make it

grammatically correct. Hence, option (a) is the right answer choice.

S13. Ans. (b)

Sol. ‘That his writ runs in the party’ should replace the phrase printed in bold in the sentence to

make it grammatically correct. Hence, option (b) is the right answer choice.

S14. Ans. (c)

Sol. ‘Challenges to tackle, the economy being’ should replace the phrase printed in bold in the
sentence to make it grammatically correct. Hence, option (c) is the right answer choice.

S15. Ans. (e)

Sol. There is no correction required in the given sentence. Hence, option (e) is the right answer

choice.
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